
Турнир 2 
Самый взрослый 

взрослый
Тест № 2



1)  
ВОСПИТАТЕЛЬ



2) 60:6*5=50 (мин)

Ответ: 50 минут



3) 6:2*3=9 (дев)

Ответ: 9 девочек



4) 10:22



5) 10:5*2=4 (стр)

Ответ: 4 страницы



6) 1. 60:4*3=45 (мин)

       2. 45:5*2=18 (мин)

Ответ: 18 минут



7) Ш  1- 
5/13+4/13=13/13-5/13+4/
13= 12/13

Р 49/60

В 5/6



Ц     87/130

Г      154/160

Н     108/160

А      109/130

З       9/60



И     0

Й     60/60=1

Е     45/60



ЕВГЕНИЙ      
ШВАРЦ



8)     1. 8*6=48 (кв. дм)

              2. 48:12=4 (кв. дм)

              3. 8*4=32 ( кв. дм)

Ответ: 32 кв. дм. закрашено.



9)  1 000 000   - наибольшее число



10)   142  000  000


